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TrigonometryExercise for No.10052

Nol = (cos(A) = 2}, No2 = (csc(A) = Zj, No3 = (tan(A) = %j, No4 = (sec(A) = %]

1=(y=sin(9)) 2=(y=4cos(0)) 3=(y=cos(20))
! 0
Nos — 4=(y=2cos(60)) 5= y:5c05(49) 6= y:SCOS(gj—Sj
7(lsejg(5(ﬂ_9j2j MA
7= y= 2005( n0)| .8=|y=-5cos . + - |
& : . MA
y=-=cos(2x)-2 y=sin(x)-3 y=-3sin(2wx) .
R N EE (x MA MA
y=_cos| —_— |+4 y=-3sin —_— bl
2 3 2 TH TH

T
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TrigonometryExercise for No.10064

7 9 X X
Nol = (sin(A) = gj, No2 = (csc(A) = EJ, No3 = (cos(A) = 7}, No4 = (cot(A) = g}
[ I=(y=cos(0)) 2=(y=-3sin(0)) 3=(y=cos(50)) |
1 0
Nos — 4=(y=2cos(60)) .5:(y=—5cos(36) 6= y:6sin(zj+lj
7 ( B (R—OD 8 3sin(4w0)+2 MA
7= y——2cos p S=(y=-3sin(4nB)+2) TH |
3 5 . ) (xj ) 3 ) MA
= + = . = —
s y 2sm( TX) y cos > y 2005( X) o
A I M4 M4
y=-2sin(2 tx) y =—cos(x) TH TH
7_
6_
| 5_.
d |
i |
1 | .3._

9 d
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TrigonometryExercise for No.10076

Nol = (sin(A) = g}, No2 = (csc(A) = %j, No3 =(cos(4)=x), No4 = (cot(A) = %J

! 0
Nos = 4=(y=-4sin(60)) .5:(y:—gcos(39)) 6= y=—5COS(Zj—5)
7(1.3(9)8(5(&)1) M4
Bt 4sm( n0)| .8=|y=-5cos 5 - |
3 Ly (ij 4 3 (ij MA
g v =cos(x) + y=7sin 3 y=-3cos| 7| -
o L. [mx [ mx MA MA
y="sin| — |+3 y=-3sin - e
2 2 3 TH TH
7_
6_
5_

T
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TrigonometryExercise for No.10077

3 8 5 X
Nol = (cos(A) = ;J, No2 = (sec(A) = gj, No3 = (tan(A) = ;j, No4 = (csc(A) = 7]

A =(y=cos(0)) 2=(y=6sin(0)) J3=(y=sin(40))
0 1
Nos — 4=(y=2sin(50)) .5:(y:—6sin(5]j .6:()/25005(26)—4)
7 ( l(n_@}j 8 4 3n0)-3 MA
7= y——2sm 3 S=(y=-4cos(31H)-3) TH |
2 L 2 3 sin(2 3 MA
= — = = — + —
g y=cos(x) y 2sm( xX) y sin(2 7 x) o
S I D | (_j MA MA
y—2sm( xX)— y-—zcos 3 TH TH
7_
6_
5
.4_
y
| i .3_
.2_
Bl | | 14 I | it
B P9 4pi~
2 7
Y |
_4_
_5_
_6_
7
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TrigonometryExercise for No.10083

2 7 1 7
Nol = (cos(A)— jNO2 (csc(A)— jNo3 (sm(A)— jNo4 (sec(A):;j

A =(y=cos(0)) 2=(y=-3sin(0)) J3=(y=cos(20))
Nos — 4=(y=-4cos(20)) .5:(y:§sin(46)J .6:(y=6sin(%j+lj
_.7—(y——6cos(5n9)) 8= y——4sm p +3 TH |
wl) s rmanls] 2
s y=2sin 3 y=sin(x) — y=-2cos 3 e
o= (xj 1 (nx} MA MA
——51 —|+2 y=——Ccos|——|-4 — —
2 2 3 TH TH
7_
6_
5_
4_
y
3_
if2 i /2
=3 i ;
B s Prans NINEINN Z
_5_
_6_
7
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TrigonometryExercise for No.10109

7 7 5 X
Nol = (cos(A) = EJ, No2 = (csc(A) = gj, No3 = (tan(A) = ;J, No4 = (cot(A) = EJ

A =(y=sin(0))
4=(y=-2co0s(60))

2=(y=-4cos(0))

J3=(y=cos(30))

Noj =

Nob6 =

1 0
.5:(y=—gcos(4 8)) .6:()/:—6 cos(zj—S]

1 (no ) MA
_.7:(y=—gsm(TD S=(y=-5sin(6O)—-1) E |
o x [ Tmx MA
y=—2sm(;}+3 y:2sm(7J+2 y=2cos(2mx) E
X MA MA
yz2cos(;} y=—cos(x)—2 E E

.

9 d
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TrigonometryExercise for No.10180

Nol = (cos(A)—3j No2 = (csc(A)—4j No3 = (sm(A)— j No4 = (cot(A):ij

1 =(y=cos(0)) 2=(y=3sin(0)) 3=(y=cos(30))
! 0
Nos=| #=(r=06sm(30)) ‘5:(3’:5005(2 0)] 6=|y=—d sin(gJ_‘J
’ ( - ( ] 2sin(4n0)—4 MA
/= y=-—"-cos ; =(y=-2sin(4n0)—-4) - |
3 xJ 5 (Tcxj 5 5 MA
T, =7 — |+ = _ _y £
Nog y=3sin ; y= 2cos 3 y cos(x) oo
T (i - 2 sin(2 MA MA
Y—zsln 3 + y=-2sin(2x) - -
7_
6_

; ,

-y
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TrigonometryExercise for No.10181

Nol = (tan(A) - gj No2 = (csc(A) - gj No3 = (sin(4) = x), Nod = (cot(A) - ﬂ

A =(y=sin(0)) 2=(y=4cos(0)) J3=(y=cos(30))
Nos = 4=(y=-4cos(20)) .5=(y:—4cos(%jj .6:(y:—ésin(38)—lj
. 1 (6 7]
_.7:(y:—4sm(6n6)) .8:( =73 cos( p j+4] TH
25 2 2 2 (ij 4 2 (ij MA
g y—2sm( nx)+2 y=2cos > +4 y=-2cos > e
MA MA

= —sin -2 =2 sin(2 — o
y (x) y (2mx) TH TH

9 d
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TrigonometryExercise for No.10191

2 7 X X
Nol = (sin(A) = gj, No2 = (sec(A) = Zj, No3 = (cos(A) = ;], No4 = (csc(A) = Zj
[ . I=(y=sin(0)) 2=(y=4cos(0)) 3=(y=sin(20)) |
1 0
Nos = 4=(y=4sin(20)) .5:(y:§sin(49) 6= y:3sin(gj—lj
o 1 MA
.7:(y:—4cos(—D .8:( :——cos(3n6)+1j —
L 6 2 TH J
s y—2cos > y =—sin(x) y=-3cos 3 + TH
T3 (_j o MA MA
y——2s1n 5 +3 y=2cos(2mx) TH TH
7_
6_

.
Y
i Z |

il

\,_2a

-3
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TrigonometryExercise for No.10281

2 8 7 4
Nol = (sin(A) = ;j, No2 = (csc(A) = gj, No3 = (tan(A) = ;j, No4 = (sec(A) = ;j

A =(y=sin(0)) 2=(y=-4cos(0)) J3=(y=cos(20))

Nos — 4=(y=3cos(40)) .5:(y:—isin(39)j .6:(y=2sin(%j+lj
1 (no MA
7=(y=-6cos(2mH)) .8:(y=—§sm(?j+5j E

| (x} 5 (Tcxj | (nx} 3 MA
=—_S8I1n =—2C0S| — =—sin| — |- —_—
R O 2 ) YT TH

MA MA

X
= -3 y=-3sin 7 [+2 — —
y=cos(x) y sm(?’J T T

No6 =

_6_

T
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TrigonometryExercise for No.10437

Nol = (sm(A)—zj No2 = (csc(A) 8j No3 =(cos(4)=x), No4 = (cot(A):gj
i A =(y=sin(0)) 2=(y=-4cos(0)) J3=(y=cos(30))
4=(y=2sin(30)) 5:()/—%005(3 9)) .6:()/:—3 sin(%]—3j

relyerel )] el oo
I y=-2cos =—sin(3710O)+ TH |

3 (nx} p 5 (nx} 1 (xj 3 MA
=——_COoS| —_ |— =2cos —— =—cosl — |+ e
R U Y 2 )7 3

No)j =

2 TH
No6 = 5 (xj , MA MA
=——sin| — = —sin — —
Y= Y (x) TH TH
7_
6_
5_
4_
== 3 S

T
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TrigonometryExercise for No.10493

Nol = (sin(A) = ZJ, No2 = (sec(A) = gj, No3 = (tan(A4) =x), No4 = (csc(A) = %]

A =(y=cos(0)) 2=(y=3sin(0)) J3=(y=cos(40))

Nos — 4=(y=2cos(40)) .5:(y:ésin(26) .6 = y:2cos(%j+3j
. 1 (n6 7]

_.7=(y:—3 sin(4m0)) .8:()/:—2 sm( p J+3j TH |
24 2 + 4 3 (MJ i 2 MA
g y 2sm( TX) y cos > y=sin(x) e
1 X X MA MA
y=—" cos(—j—3 y=-2 cos(—j — —
2 2 2 TH TH

T
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TrigonometryExercise for No.10596

s =302 st s =t v~ s3]
Nol =|sin(4)== |, No2=|csc(4d)==|, No3=|cos(A)=""| No4=|sec(Ad)="
7 7 3 X
[ A =(y=sin(0)) 2=(y=-2cos(0)) J3=(y=cos(60))
Nos = 4=(y=5sin(30)) .5:(y:—§cos(5 6)] .6:(y:—4sin(gJ—4J
ymssinsnty a-(y-—LeZ2) 2] M
_.7—(y——551n(6n )) 8= y——6sm 3 -2 TH |
_ (MJ _ (1j iy MA
y=-3cos 3 +4 y=-3sin 3 -4 y=sin(x)-2 o
Mot = U I (nxj M4 MA
y=-3cos| ~ y=_cos| — —
2 2 2 TH TH

\\_,//
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TrigonometryExercise for No.10599

Nol = (cos(A) = gj, No2 = (csc(A) = g}, No3 = (sin(A) = %j, No4 = (cot(A) = %J

Noj =

A =(y=sin(0))
4=(y=2cos(606))

2=(y=6co0s(0))

1
S = y:—g sin(4 0)

.7:(y:—écos(%ej] S=(y=-3sin(51t6)-5)

3=(y=sin(60))

oraxfse

MA

TH

5 s (xj 5 3 (nx} 1 . (Tcxj 4 MA
=281 — | — =—_COS| — =—Ssm| — |+ -
Y 2 R WY A 3 TH

2
No6 = . . ) osin MA MA
= + _ _— —_
y =sin(x) y cos(2 x) TH TH
7_
6_

T
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TrigonometryExercise for No.11068

) 7 2 X 5
Nol = (sm(A) = gj, No2 = (cot(A) = gj, No3 = (tan(A) = gj, No4 = (csc(A) = ;j
[ A =(y=sin(0)) 2=(y=-5co0s(0)) J=(y=sin(50))
Nos = 4=(y=-6c¢c0s(20)) .5:(y:3sin(%D .6:(y:§sin(69)—3]
1 (m© MA
.7:(y:—zcos(2n9)j .8:(y:—6sm(7j+3j E
L _ (1j . MA
. y=-sin(x)+3 y=-2sin 3 -2 y=-2sin(2x) e
Not = 5 MA MA
yzgcos(2nx)+2 y:5c05(2nx) E E

7_

T

X [Page = 0015] XXXXXXXXXXXXXXKXKXKXKXXXXXKXKXKXKKKKKKKXKKXXXXXXXXXXXXXXXXXXKKKKKX



):9.0:9:9.9:9:9.9.9:9:9.9:9.9.9:9:9.9:9:0.9.9:9.9.9:9.9.9:9.0.0:0:0.9:9.9.9.9:9.9.0:9.0.0:9.9.9:0:0.9.0:9.9.0:9:0.0:9.9.0:0.0.9.0:9.9.0:0.0.0:0.0.0:0¢
X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXM5/1-6800302-00016XX
TrigonometryExercise for No.11423

Nol = (tan(A)—7j No2 = (csc(A)—gj No3 = (sm(A)— J No4 = (cot(A):gj

1 =(y=sin(0)) 2=(y=-5cos(0)) 3=(y=cos(36))
No5 = 4=(y=-6sin(59)) .5=(y:%sin(5 9)] -6=(y=—6 cos(gj—4j
. 1  (=n6 MA
7=(y=-2smn(3m0O)) .8:(y:—gsm(7j—4j g

3 (MJ b= ( j ( J :
= —"COS + =" COS —__ﬂ
YT, Y=y Y TH
Nob6 = A

TX ] MA
y=-2 COS(TJ y=sin(x)+3

TH TH

X [Page = 0016] XXXXXXXXXXXXXKKXXKXKXXXXXXKXKKKKKKKKKKXXXXKXXXXXXXXXXXXXXXKKKKKX



):9.0:9:9.9:9:9.9.9:9:9.9:9.9.9:9:9.9:9:0.9.9:9.9.9:9.9.9:9.0.0:0:0.9:9.9.9.9:9.9.0:9.0.0:9.9.9:0:0.9.0:9.9.0:9:0.0:9.9.0:0.0.9.0:9.9.0:0.0.0:0.0.0:0¢
X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXM5/1-6800302-00017XX
TrigonometryExercise for No.11440

Nol = (tan(A)—sj No2 = (cot(A) 6] No3 = (sm(A)— lj No4 = (csc(A):%]

d=(y=cos(0)) 2=(y=4sin(0)) J3=(y=sin(30))

Nos — 4=(y=-4sin(60)) .5:(y:—4sin(%D .6=(y=—écos(56)—l}
1 0 M4

_.7=(y:— sm(6n6)j (y:—S cos( 1 j—3} TH |
oft) e tufe)er - dof)
s y=-2cos > y= 2sm 3 +2 y= 2cos 3 e
5 (mx ) MA MA
y:551n(—j+3 y=sin(x)+1 E E
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TrigonometryExercise for No.11466

4 9 : 3 X
Nol = (cos(A) = gj, No2 = (csc(A) = gj, No3 = (sm(A) = ;], No4 = (sec(A) = Zj

A =(y=sin(0)) 2=(y=2co0s(0)) J=(y=cos(40))
Nos = 4=(y=-4cos(30)) .5:(y:—53in(gjj .6:(y:§cos(69)+4j
1. v MA
_.7:(y:—gsm(2n9)j .8:(y:—6cos(Tj—5j E |
(ﬂj 1 (zj MA
s y=cos(x)—2 y=2sin 3 y:2cos 3 e
5 TX X MA MA
y=—" sin(—J+4 y=-3 sin(—j—2
2 2 2 TH TH
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TrigonometryExercise for No.11863

Nol = (tan(A)—s] No2 = (sec(A)— 8j No3 = (sm(A)— J No4 = (csc(A)=x)

A =(y=sin(0)) 2=(y=-2cos(0)) J3=(y=sin(60))

Nos — 4=(y=6cos(40)) .5:(y:3sin(%jj .6:(y:§cos(66)+2j
! 7]

_.7:();: cos( j =(y=-3sin(5t0O)+1) TH |
vl3) resedf)s i
s 2sm y=3cos 3 + y=-—cos(x) e
3 X MA MA
y:—Esm( 5 J y= Ecos(2nx) 2 E E
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TrigonometryExercise for No.11967

Nol = (tan(A) = %J, No2 = (cot(A) = g}, No3 = (sin(4)=x), No4 = (csc(A) = %J

1 =(y=sin(0)) 2=(y=-3cos(0)) 3=(y=sin(30))
Nos — 4=(y=2co0s(40)) .5=(y=%cos(56)] .6:(y:—2cos(%)+2]
I (nH MA
7=(y=-3cos(4mH)) .8:(y:—551n(?j+2j E

3 (xj 1 . (Tcxj 5 3 (xj 4 MA
= — - = I = I -
y cos 3 y 2sm 3 y cos 3 T

No6 = 5 s (ﬂj 5 MA MA
y=-2 sin| 2 y = cos(x) _TH _TH
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TrigonometryExercise for No.13031

3 9 ) 7 X
Nol = (cos(A) = gj, No2 = (csc(A) = g}, No3 = (sm(A) = ;j, No4 = (cot(A) = ;J

d=(y=cos(0)) 2=(y=-2sin(0)) J3=(y=sin(50))

Nos = 4=(y=-6¢c0s(50)) .5:(y:écos(46)j O=|y=-3 sin(gj—4j
1.(n0 M4

_.7:(y:—2005(6n9)) .8:( :—6sm( 5 j—3j TH |
y:—g COS(HJ—:S y:lsin(iJ—4 yzgsin(ﬂJ MA
Nob = 2 2 2 2 2 3 TH
. 5 MA MA
y=-sin(x)—3 y:2005(2x) e e
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TrigonometryExercise for No.13093

Nol = (sin(A) = %j, No2 = (sec(A) = gj, No3 = (tan(A) = ij, No4 = (csc(A) = %]

d=(y=cos(0)) 2=(y=5sin(0)) J3=(y=cos(40))
Nos — 4=(y=-3sin(60)) .5:(y:—6sin(gD .6:(y:icos(66)—5j
. 1 (0 7]
_.7:(y:—6sm(5n9)) .8:( =73 cos( p j+4j TH |
(zj 5 (1} MA
s y=-3cos(2mx)—2 y=-3cos 3 +4 y:—2cos 3 e
. 3 (nx MA M4
y=sin(x) -2 y:2sm( 5 j TH TH
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TrigonometryExercise for No.13163

7 4 ) 7 X
Nol = (tan(A) = gj, No2 = (csc(A) = EJ’ No3 = (sm(A) = ;j, No4 = (sec(A) = 7]

A =(y=cos(0)) 2=(y=6sin(0)) J3=(y=sin(20))
Nos — 4=(y=-4sin(50)) S = y:—icos(ZG) 6= y:5005(2j+2j
1 (=9 MA
J=(y=—-4cos(2mH)) .8:(y:—zsm(?j+5j E
. 1 X , MA
y=3sin(2nx)—-4 y=5COS(EJ+2 y=sin(x) E

No6 = MA MA

1
= -2 cos(2 = ——sin(2 —  —
y cos(2mx) y > sin(2 x)
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TrigonometryExercise for No.13403

2 8 X 2

Nol = (tan(A) = EJ’ No2 = (csc(A) = gj, No3 = (cos(A) = ;J, No4 = (cot(A) = ;j

i d=(y=cos(0)) 2=(y=-5sin(0)) J3=(y=sin(20))

Nos — 4=(y=-5c0s(360)) .5:();:—6 sin(%D .6:(y=—%cos(46)—5j

1 o MA
.7=(y:—gcos(5n6)j .8:(y:—2cos(7j+2j E
3 (ﬁj ) _i-(ﬂj _l.(zj 7z
e y——zcos 5 + y—2sm 5 y—2sm 5 e
o°= _ 5 (nx MA MA
y=-sin(x) -1 y:—Ecos T - TH TH
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TrigonometryExercise for No.13459

R e CLR SO G
Nol =|tan(4)=— |, No2=|sec(A)=—"| No3 =|sin(4)="—|, No4=| cot(4)=—"
5 6 7 X
i d=(y=cos(0)) 2=(y=4sin(0)) J3=(y=sin(20))
Nos — 4=(y=-5c0s(30)) .5:();:2005(%D .6:(y=—%sin(3 6)—2)
o 1 MA
_.7:(y:—5 COS(TD .8=(y:—zcos(3n6)—3j E |
3(1} §-(ﬂ}+4 oy M4
g y 2sm 3 y 2sm 3 y =—sin(x) o
1 X MA MA
y=5005(2x)+3 yZ—ECOS(Tj TH TH
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TrigonometryExercise for No.13581

Nol = (tan(A) = 9, No2 = (csc(A) = g}, No3 = (cos(A) =3 j, No4 = (sec(A) = %]

Nob =

A =(y=sin(0))
4=(y=-6¢c0s(30))

2=(y=-4cos(0))

st

1
J=(y=-5sin(4mH)) .82(3}2—;005( p
5 (mx
yzgsm y=-3cos(2x)

b1
=—sin(2x)-3 =-2sin
y=- (2x) y (2

3=(y=sin(30))

MA

TH
MA

MA
TH
y=cos(x)+2
MA
TH TH

.6:(y=%cos(5 6)—5)
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TrigonometryExercise for No.13668

Nol = (sm(A)—zj No2 = (cot(A)—3] No3 = (cos(A)— J No4 = (sec(A)zéj

d=(y=cos(0)) 2=(y=-5sin(0)) J3=(y=sin(60))

Nos — 4=(y=-6sin(50)) .5:(y:2sin(%D .6:(y:§sin(36)+2J
_( _! ( D M4

_.7— cos =(y=-6sin(310)+4) TH |
2eod5) redsnl3)s veenn
y=-2cos ——sm y=-cos(x)+2 —
2 TH
i =), 1 : Mo MA
y=2cos 5 + y= 2s1n( TX) TH TH
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TrigonometryExercise for No.13716

Nol = (tan(A)—s] No2 = (sec(A) 9) No3 = (sm(A)— j No4 = (csc(A):ij
[ A =(y=cos(0)) 2=(y=5sin(0)) J3=(y=sin(20))
4=(y=-4sin(50)) =(y——2 sm(zjj .6:(y:§cos(49)—lj

5
ool ) aelpegussos)
_—y——cos =——sin(3710O)+ TH

1 b MA
yzgsm3 -2 y=-—cos(x)+2 y:2cosg —

Noj =

TH

No6 = 3. (nxj 4 3 sin(2 MA MA
= - -/ |+ = — _ _—

y 2sm 2 y sin(2 1 x) o e
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TrigonometryExercise for No.13720

=3 vz = = s s =5 o= o=
Nol =|tan(4)=—" |, No2=|csc(A)==7| No3=|sin(4)="—|, No4=|cot(4A)=—"
4 3 7 X
[ A =(y=sin(0)) 2=(y=6co0s(0)) 3=(y=cos(60))
Nos = 4=(y=-3cos(50)) .5:(y:4sin(%jj .6:(y:%cos(59)—lj
(m© 1 . MA
_.7:(y:—2 sm(?D .8:(y:—zsm(3n6)—2j E |
5 (HJ L o MA
g y 2cos > y 2cos( X) y=sin(x) o
5 X R MA MA
y:_ECOS(Tj_4 y:—gsm(2x)—3 E E
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TrigonometryExercise for No.14307

Nol = (tan(A) = 2}, No2 = (cot(A) = %j, No3 = (sin(A) = %], No4 = (csc(A) = %]

d=(y=cos(0)) 2=(y=-6sin(0)) J=(y=sin(50))
Nos — 4=(y=-3sin(20)) .5:(y=6sin(gjj .6=(y:—%sin(66)+2j
(m© 1 . MA
_.7:(y:—2sm(?jj .8:(y:—gsm(6n6)—5J E |
3 (i} 5 s g M4
g y—2cos > y-zsln( nx) y=-sin(x)+ e
1. [mx MA MA
y=-3cos(2x)+4 yzzsln( 3 j—2 e e

9 d
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TrigonometryExercise for No.14598

Nol = (tan(A)—3j No2 = (cot(A)—7] No3 = (cos(A)— j No4 = (sec(A):éj

A =(y=sin(0)) 2=(y=6co0s(0)) 3=(y=sin(60))
Nos — 4=(y=-5c0s(30)) .5:(y:—4sin(%D .6=(y:—isin(56)+lj
1 o MA
_.7=(y:—gcos(6n6)j .8:(y:—2cos(?j—4j E |
; (ﬂ} e a3 3(1} MA
g y=23cos > y= 2cos( xX)+3 y= 2sm 3 e
3 MA A
y=—cos(x)+ 1 y= 2 sin(2 wx) e e

\/N/\/
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TrigonometryExercise for No.14624

Nol = (tan(A) = %J, No2 = (cot(A) = 2], No3 = (sin(A) = gj, No4 = (csc(A) = ?j

A =(y=sin(0)) 2=(y=3cos(0)) J3=(y=sin(60))
Nos — 4=(y=4sin(30)) .5:(y:2cos(gD .62(}/2%005(66)—1)
1 (no MA
_.7:(y=—§sm(7jj S=(y=—-4cos(2m1H)+1) E |
2 (iJ 2 sin(2 2 1 MA
s y=-2cos 3 y=-2sin(2 wx) y=cos(x) e
3 MA A
y=2cos(2mx) y:—zsln(2x)+3 o TH

T
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TrigonometryExercise for No.14641

Nol = (sm(A)—zj No2 = (sec(A)—9j No3 = (cos(A)— j No4 = (cot(A):ij

A =(y=cos(0)) 2=(y=6sin(0)) J3=(y=sin(20))
Nos = .4=(y:4cos(66)) .5:(y=—§cos(36)] .6=(y:4sin(%j—2j
ne 1 7]

7= :—SSln j.8:(y:—2cos(5n6)—2j TH |
(ﬂj MA
s = sm(x) y=2cos(2x) y=-2sin 3 e
1 X MA MA
—sm j—2 y:——cos(—J+4 — —
2 3 TH TH

T
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TrigonometryExercise for No.14681

4 5 6 6
Nol = (tan(A)— jNO2 (csc(A) JN03 (cos(A)— jNo4 (cot(A):;j

d=(y=cos(0))
A4=(y=—-6sin(20))

peandet)

y= 300(

Nob6 =
= '_COS
Y= (

No)j =

-3

Fll\)|><

2=(y=>5sin(0))

1
S = y:—z sin(3 0)

(yz ésm(4n6)+ lj

3 (MJ _
sm 3 y=cos(x)

)z omsal3)
+ __ =
3 y=-3sin 3

R

MA

TH

J=(y=cos(20))

MA

TH J
MA

TH
MA

TH

7
6
5
.”f‘rl . 3
éf "\ y
.‘;:r' | \‘.
i \
R
i "
\\\\\ |
\&\hjﬁ APif2
-y
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TrigonometryExercise for No.14688

6 7 X X
Nol = (tan(A) = ;J, No2 = (sec(A) = gj, No3 = (cos(A) = EJ, No4 = (cot(A) = ;j
[ A =(y=sin(0)) 2=(y=-4cos(0)) J3=(y=cos(20))
Nos = 4=(y=-4cos(20)) .5=(y:§cos(49)j .6:(y:—4sin(gJ—3]
_( 1 (W_GD e M4
_.7— == sin 5 S=(y=-3cos(4mB)-5) TH |
L (zj . MA
y=251n > -3 y=cos(x)+2 y=-2sin(2 x) o
No6 = (nx} 1 . (Tcxj MA MA
y=-2cos| /| y=Tsin—_|+4 — E—
3 2 3 TH TH

L]
[

T
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TrigonometryExercise for No.14703

Nol = (sm(A)— 5] No2 = (sec(A) 9] No3 = (tan(A)— 2j No4 = (cot(A):ij

A =(y=sin(0)) 2=(y=-6co0s(0)) 3=(y=sin(60))

Nos = 4=(y=2cos(40)) 5:(y—§cos(69)j .6:(y:5cos(%j+3j
1 MA

_7 (y——6cos( D ( = cos(5n6)+4j TH |
3 ) (ﬁ} , M4
s y 2sm( TX) y sin > y=-—cos(x) + e
3 X I (x MA MA
y:—cos(—j—3 y:——sm(—J+4 — —
2 3 2 2 TH TH

T
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TrigonometryExercise for No.14714

Nol = (cos(A)—4J No2 = (csc(A)—7j No3 = (sm(A)— j No4 = (sec(A):ij

A =(y=cos(0)) 2=(y=5sin(0)) 3=(y=sin(30))

Nos — 4=(y=4cos(30)) .5:(y=4sin( D —( —%sin(66)—lj
. 1 (n0 7]

_.7:(y:—4sm(5n9)) 8= y:—4sm( 3 J+l] TH |
%) s3] T
g y=-2sin y=cos(x)+1 y=—2 sin > e
1 T X MA MA
y——cos( J 2 y:—sin(—J+2 — —
2 2 2 2 TH TH

T
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TrigonometryExercise for No.14746

Nol = (tan(A) = EJ, No2 = (cot(A) = %j, No3 = (cos(A) = %], No4 = (csc(A) = gj

A =(y=sin(0))
Nos = 4=(y=-4cos(30))

1 n o

3

1 X 5
y:——sin(—j y:ESin(2nx)—4 y=-3cos(2x)+4 ——

2 2

Nob6 =

2=(y=4cos(0))

raeft)

.7:( =—gsin(—D S=(y=-2sin(610)-3)

I (nx
y=cos(x)+3 y:551n—

3

.6:(y:—isin(2 0)-— 1]

J3=(y=cos(30))

MA

TH
MA

TH

MA MA

TH TH

T
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TrigonometryExercise for No.15000

Nol = (sin(A) = %j, No2 = (sec(A) = gj, No3 = (tan(A) = %J, No4 = (csc(A)=x)

d=(y=cos(0)) 2=(y=4sin(0)) J=(y=cos(30))

Nos — 4=(y=3cos(40)) .5:(y:icos(58) 6= y=—6cos(%]—2j
n 0 1 MA
.7:(y:—6cos(—j] .8:( :——cos(6n6)—1j —

L 3 5 TH J
3 (ﬂ} . 1 (1} , M4
s y 2cos 3 y=-sin(x) y 2cos 3 e
X MA MA
y=-2cos(2mx)+2 y:—zsln(?)j TH TH

9 d
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TrigonometryExercise for No.15012

Nol = (cos(A) = %], No2 = (sec(A) = g}, No3 = (sin(A4)=x), No4 = (CSC(A) = %J

A =(y=cos(0)) 2=(y=3sin(0)) J3=(y=cos(60))
Nos—| #=(r=73cos(20)) -5=(y=—icos(2 0)| 6= y=25in% —5j
i Lo 7m0 MA

_.7:(y:—2 sin(4m0)) .8:(y:—4sm( s J_3j - _
l (1&1} . | g 0 3 .&éi
o y == cos| y=sin(x)+1 y 2sm( nx)+ p—
3 X 3 X MA MA
y=—" cos(—J+4 y:—cos(—J —_— kel
213 2 \2 TH TH

T
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TrigonometryExercise for No.15024

3 5 ) 2 X
Nol = (cos(A) = ;j, No2 = (csc(A) = Zj, No3 = (sm(A) = ;], No4 = (sec(A) = gj

A =(y=sin(0)) 2=(y=-2cos(0)) J3=(y=cos(20))

Nos = 4=(y=-6sin(20)) .5:(y=4sin(%jj .6:(y:—ésin(5 9)—4}
1 (no MA

_.7:( :_ZSIH(TD S8=(y=-3cos(4mH)—-4) E |
{5 o) oel) o 2
s y—2cos 3 +3 y=-2sin 5 y=2sin 3 e
: X MA MA
y=-sin(x)+ 1 y=3cos( 5 J TH TH

/

T
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TrigonometryExercise for No.15032

7 8 ) 5 X
Nol = (cos(A) = gj, No2 = (cot(A) = gj, No3 = (sm(A) = ;J, No4 = (csc(A) = ZJ

d=(y=cos(0)) 2=(y=2sin(0)) J=(y=cos(50))
Nos = 4=(y=4sin(20)) .5=(y:—4cos(g .6:(y:§cos(6 8)+5]

1 . v MA
_.7:(y:—gsm(5n9)j .8:()/:—3 cos(7j+2j E

) (zj 5. (1} b v eeganry MA

s y=-2sin > y—2sm 3 y—2cos( TX) e

TX ) MA MA

y=-2 COS(TJ -2 y=-sin(x)-3 E E

A
ki

.

et

T
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